P RKBRXFIXR] (8i%)

J.A

Cos20 = a0 + 4 ~ O
ORD)

25009 +&Sh0 + 4 -1 =0
L=5n0 ¢ XY,

2tPv ot + 4 -1z0, @
SRR

T ek O EM AT EL0,

& rta##‘iz&'@)ﬁ“—léts_ Lo 5 |1

TRCLE L FRERELO
THRIC i EE 33

fe) =26 rat+ 4 -
R,

flo=2(t+2) - Lugor,
UE, 1, fow3 #0415,

(h f(v-fey <o

i
-le -2 €,
4 -E+dr <o,
flyzo,
F(-1) 20
Ths.

(h & (a+L+n(-arLe) o

-4€a4¢4,
Lsgaay,
br-a-|,
Lzoa~1,

R

/4

204 o GEGE I T Do REERETFN
RE'CHER £5%

OFEE 2023 4F



2

() %J{K:%’g% e

o P X
by 7 = e
/&3413:

Il

by

3
Tt - 1A

Y= (= Sl P R (2 Ly ) (S

= = (fgax ) + 30Usgax)?
= - £+3ax*, -5

() Sex ¢ wy,

fogah € Jog. o0 £ fop 8
~ 1€ by €3
T h3rs, —ls A3
U 1y, _
“We S0 = - B+3at
hY)
)= -3 4 6a k
= =24 (k-2)
(L) 2a<3,; 35403 0<a<

hTT .

-1~ o
fw|| |=|o|+]|0 |-

f

26| -~ 3

5111 AVE R IR F7TC2 R

BE  KERKPIXR] (81#)

i

F@a)- f1) = 4«-Ga+1)

= (a-1)(20+1)*
4x0 7y QA+ O h3iss,
O<cas | pes, fea)< f),
<a<d aes ey f0),
51, .
0<A<l act M=3at],
lca<d o, M=add .

M 2023, 37563 623 ovs

£ -1 0 3
£ty -1 0|+
) ?aﬂ Y A 29407

$6- 0= 29a-29 - Oat)

= 44 - 2§
> 243 =28
=8>0 .
Thind, F6)> fol),
51, M=294-27,
(1), (@) =
<A<l nex | M=2a+1
1<0<d oy, Mag@
TR VT, M=)
(%)

O &®8 2023



‘257&+(3§[=[5’A5’+26§l:'1’ @
(20R+38)- (GR+3B)=L @

() 20R+B =0, OA+208 = T
e, O

=Tl =1 —®
THh, D&Y
U;' :i-(‘_ii- ‘l_,:)= :—13-
[+ 7= |
@EANLT
[+ U-T =1
U0 =0, @
&2,
(208 +0B)- (0R+ 208 )= 0.
- (%)
@) P&
p-Lww|<d O
P <% -@®
3% (3avy §,5<_
@ @&y, OB, U=0,0)

7=(0 1) 134512 X4 ¥k
L3N TES,
L ew=(
£CGA) e
22 L omoatp

¥ KIRKZIXR] (F1H)

%, L) £45 Ot Pav

3/
3
E@M xER(CTWS

F+, P29 < ©13
O @,9)-(1,0s+
= %g%
LR TES,
&7, Pov B3 SR 13 R0 LR
t5RFaE5L).

— XK

0P| oBxf 12t Bloy Dok b,

OD=J4)+@)

= I—_E— —— (ﬁ)

16‘;{ 0)'5%{] faw @-0 CEnEx T,

OF = oC-CE
57 - g

OWEE 20234



